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4511 %1 2R 4

1 4258 P we |§e
B4R
13105
(s FER) 2504. 41| m3
{195 6 12 m3
¥o 7 E 8 (NOK+127~NOK+173) 995 m3
¥o 7 E 8 (NOK+039~NOK+127) 502 md
¥o 7 8 (NOK+000~NOK+039) 172 m3
Anans (5 A2 R of m3
PR 0 m3
AERRE ~ E R R ARk 0f m3
AR RE (7 AR RRERD) 0f md
A% A B i 0.78 m3
Ist % { —#-kfa& 28.47 m3
Ist % { -4 R % &Rl 46.5 m3
Ist % { % FRG R 0 71.4] m3
Ist ¥ { 47 F & 177.47 m3
Ist # { - 7F ¥ 3% 4.1 m3
Ist % { - K - 398.54| m3
Ist®8{-2F v 96.15/ m3
W v 957.83] m3
Ao b A Tk 40 m3
[F5% A 4.02] m3
o 7 #EH (0K+127~0K+173) 657.6/ m3
B E 0 m3
Ist % { ~% PR M2 0.93| m3
Ist#{-8F» >0 63.28 m3
Ist8{ -2 F»rvhipT 5 192| m3
ﬁﬁ#’* Bt 2t o 140kgf/cm?2 5.92| m3
SR E] 0| m3
{195 6 4.36] m3
3] ¥t 3 K 1.56] m3
FHr RS - 210kgf/cm2 479.9 m3
[HELYE 31 md
IHERy 14.74| m3
ey g 1 0f m3
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Wi s 2 6.8 m3
B ol m3
B A% A 3 i 0.42] m3
4 852 % 45 (0K+000~0K+440) 35.82| m3
%4 3, % 45 (1K+017~1K+680) 0.56] m3
R 0.32] m3
# i (1K+690~1K+820) 8| m3
A Ha 22 8.28] m3
Ak Y 0 m3
PR A m3
g H m3
5% A 10.16| m3
Ao bz gl

(0K+440~1K+017) ) w3
Ist % { —# -k f8id 71 m3
Ist % L —pf vl w03 3 47 m3
Ist % § —% 23 % & Bl 40 m3
Ist®{ -4 »r 19.61] m3
Ist % { -% £ RS MA L 34 m3
Ist Q-2 o (F 7 HT5) 29.51] m3
Istgq -2 7o (Hid) 100.68] m3
Ist 1 -7k 34| m3
Ist % { & K -7 3 m3
¥ 101. 14| m2
drEs i 1 o m2
R 2 6| m2
B B 0| m2
A Ha 2 52.8] m2
Ist % { —#-k 8id 42.34] m2
ok 1122. 46| m2
R 60.72] m2
AR % 45 (0K+000~0K+440) 264] m2
SR S

(0K+440~1K+017) 288.5  m2
255 1A 83.49] m2
Ist®q-74 v 18.77] m2
ISt®L -8 Frr (Y BT ) 79.2] w2
Ist#{ -2~ (Fid) 183.78 m2
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Ist % { % 7RG e L 144 m2
55 s Ao 23.54/ T
WL 2 0.09 T
R B 0 T
A 8RB s 55 84(0K+000~0K+440) 1.75 T
AR %4s-"8 & A 55 44(0K+000~0K+440) 0.45/ T
bR % ;]%3—5}'%- 55 #5(0K+000~0K+440) 2.23 T
AR %1 55 #4(0K+000~0K+440) 1.07 T
Al e 5

#4(0K+440~1K+017) 5. 21 !
e L %18 55 24 (1K+017~1K+680) 0.64] T
# i 18 55 (1K+680~1K+820) 0.54/ T
Al 3.420 T
M3 ¥t 3R 2.31 T
Vg mg-a 5 (DI3) 0.61 T
455 1 A8 k3 54 (D16) 0.61 T
M55 4 .31 71
Ist % { —#-k48:%(D16) 0. 66 T
Ist % { —#-k45:%(D13) 0.43] T
Ist%{ — 74 » v (D16) 0.36) T
Ist®{ —7 4 » v (D13) 0.23) T
Ist 8 %% FBGmA L (D16) 0.71 T
Ist % { -% F 4G 2L (D13) 0.49] T
Ist# {-2 =~ (DI6) 0.81 T
Ist#{-2 =~ (DI3) 1.61 T
FEREEw IR wpkoll o BT s () 18| m3
# 3¢ (NOK+000~NOK+173) 0 m3
# i (1K+680~1K+820) 0] m3
A 0 m3
RRAIFFTE 0f m3
ok 0| m3
TF A B M 0 m3
Ist % { —& -k = Bl H 2 0| m3
Ist % { % FRG M2 18/ m3
TR s 14.16| m3
# 1 (NOK+000~NOK+173) 0 m3
# i (1K+680~1K+820) 0 m3
Ist 2 % FRGMA L 8.4/ m3
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Istg{ -2 F»r 5.76] m3
LIk RSEES > A RS2 L ER 30.39/ m3
AR 3.43| m3
F55 1 AR 2.23| m3
%G BRI 2.5 m3
Ist®{-*AfF»r 0.37 m3
Ist®#{-&F» 1 2.88 m3
Ist % { 7% % 17.78| m3
Ist # { A K -F&ER BT & 1.2 m3
4 5 R4 ¥ 0 D=600mm U
WS 0 M
AR LG FIE(RER) 7593.5 m2
1%Z 6552 w2
FrE KRS 884 m2
Ist R { - R+ sl gy 157.5)  m2
BAEF A G S AT 546/ m2
& 85 3 % 45 (0K+000~0K+440) 132 w2
dp b g

(0K+440~1K+017) s B
i 2 %45 (1KH017-1K+680) 198.9] m2
# i (1K+680~1K+820) 42| m2
Ist8{-4AfF v 0] m2
Ist#{-2F v (HF7HBLL) 0 m2
Ist B { -8 F» >0 (FE) 0 m2
bk 0f m2
AN 0| m2
(0K+440~1K+017)

LS B0 1200 w2
& 85 3 % 45 (0K+000~0K+440) 1200 w2
18 85 18408 3
& 85 3 % 4 (0K+000~0K+440) 5808| v
4y iz k38 (0K+440~1K+017) 7693 3
iy 2 %45 (1KH017-1K+680) 3240 3
# i (1K+680~1K+820) 933 3t
Ist#{-2F v (BF BT 161 v
Ist®{ -2 7~ (L) 573 3t
BEVE A 5% 4 665 m2
Flosats T o 157 m2
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Ist % { /%A% % &l i 310 m2
IstR#{-2F v (& 7HBL L) 36| m2
Ist2 -2 7 v (FiL) 162 m2
g (kBT 5) 29 M
foRgT o 29 M
B ¥ 264 M
TG OEER SRS 264 M
Bl F 421. 4 M
# g (NOK+000~NOK+173) 326. 2 M
# g (1K+680~1K+820) 95. 2 M
S 3089 m2
K7 F 2280 m2
Ist % { —& K= F 809 m2
Yo B T 1231. 85 m3
Yo rku 567.46] m3
e kAT e 450. 66| m3
Ist ¥ { T S BEIPE 137.81] m3
Ist B L -FF EFAYIT 52.22| m3
lst%i—,ér.ﬁ;ti Ak 18.6/ m3
Ist 8 -& kK {TH 5.1 md
KEF 2469.52| m2
[f] 5% B 5 46. 92| m2
AT R 153 m2
# ig (1K+680~1K+820) 112] m2
358 18 A Rk 28.38] m2
AR % 45 (0K+000~0K+440) 1068 m2
B4 R % B (1K+H017~1K+680) 530. 4| m2
i ig | 0 m2
riedlig 2 30.22| m2
VAR e 2 48.1] m2
Ay S g

(0K+440~1K+017) 0.z w2
IstR{-2F v (&Y 7BL L) 24. 1 m2
Ist -2 7 »v (Fid) 82.2 m2
PARE (2 EE) 2168. 63| m2
P T EH 1667. 18] m2
kAT G 317.2] m2
Ist ¥ { A7 F & 184. 25 m2
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fERg 43t (D=15cm) 10l 5
7,8, 9 &% 10l s
R T 8119 M2
Yo rky 1567 m2
# g (NOK+000~NOK+173) 0f m2
# i (1K+680~1K+820) 0f m2
gt o 0f m2
HERY: 0f m2
Ist # { %A% % &Rl g 0f m2
Ist -9 "HBLL5 6552| m2
¥l 393.12| M2
IHELDA R 5.12| M2
Ist % { -9 i (1K+680~1K+820) 2701 M2
Istg{ -2 70 0f M2
Ist R L -3 e mfpmiy 118 M2
kAR 671 M
[F15% Bt 67 M
2% BIE M ¥ (T0cm*30cm) 66|
55 1 Al 66| .
¥2.48 B 1 3 (60cm*60cm) B,
P /BT R ARt 2 B
Bk AT B 250 M
i~ B 25 M
L N 16 =
& o2 % 45 (0K+000~0K+440) 100 =
i 2 %048 (1K+017~1K+680) 6 =
7S A R 640 M
i 2 %48 (1K+017~1K+680) 640/ M
B (FP LR E~ Ak h) 149 M3
A 2 M3
Fr e KA M3
EEM IR S M3
Ist®{ %%k 8 M3
Ist # { Hfmp ¥ FAF 13 M3
Ist % { - K =B *h 4% 15/ M3
Ist # L -3 K i-Fl&Ere 7 Rk 4] M3
Ist % { —A K {=Flpt+ %7 24 M3
Ist % {-#FHAE1 15/ M3
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Yok (5B %)

88

M
%4 R 88 X
A B LS 3 e
%G AE 3 =
REE S 0 =
¥oBTe 0 =
W AR 107] Ay
& 552 % 45 (0K+000~0K+440) 100] sy
F15% A (-3
P At Hdy T 127 =
i 2 %48 (1K+017~1K+680) 127 =
ok fgacind $ 1| =
BN 1| =
v A H AR 1 &
¥rmTs 1 5t
B G B RATE 923 M3
Ist${ —+Frr 65 M3
Ist#{ —2Frr 438 M3
# 1% (1K+680~1K+820) 420/ M3
¥ G FRALY 642.8| M2
Ist % £ — jf ol a0 i 3 312 M2
Istgq-2F 0 180. 8] M2
# 1% (1K+680~1K+820) 150 M2
Lk R AT 152 M2
Ist -4 % E 152 M2
FRT 35 M3
Ist {4 % f 35 M3
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2. kEiE 1 5

T REER TS

B SN N % ANE LI ¥ N S )
(Z)%1i52

14232815

215w B R ELH 1 5

320 F T & 2

435w 2 3-4

(B B
73 B ;:ﬁﬁz0.7~0.8)ﬁ 2.1 1T F 40 M3fhrs % 1 5 1F% o &
p1itg 1 5x40 M3/hrx6 hr=240 M3/ p -

(=) FESHRFRL ¥ g
BFLE A E pELIERAOMYhr 1 34 o bt B 1EITE
& p 1§ 10 M?/hrx3 « x6 hr/p =180 M¥ p -

(=) FE#R 5 2 (210 kg/cm?) :
RpEd 2R 15 omo F* 6 MPHE B i RES > BT EEE 50
KM/hr > % & p& 2 3opksg 60 KM/hr s S5 ps i 5 2 4 > e & % & 5
%20 &4 o - Y5 G PF(1/50+1/60)x60%16.5+5+20=61.3 4 45 > 11 65
Q?&Eﬂﬂlmﬁﬁ”4 PR Rl BRMEL B g 0 F P FR G

o x4 pEx1 Ap/hrx6 M3=144 M3/ p -

() Bf Bpe
B0 PS(B A B 0.7~0.8)% S22 1 ft5k A0 MYhrs % 1 5 fe% o &
p1ieg 1 5x40 M3/hrx6 hr=240 M3/p o

(1) Fmmd 1
G S5 4e 1 Z B > 1 X5 08T/A/p » MaESH1I 3 4% s & pairg
5 108T/A/px34=24T/p -
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(7 ) g F g
AW1S 0218 B 1A s Fida24 Tias @1 irg
30m2/hr - & p 1 iv§ 5 30m2/hrx8(hr/ = )=240m2/= -

(=) il s -
AR R o I \;gamw Sy HME1 34 Tas | pEFa TE

5m/hro & p 1 i¥& 5 5m/hrx8(hr/= )=40m/= -

(™) 4% 85 4ea 2 RA B >
b1 2 B e 1 K5 08T/A/p > 4w 134A%1 & p 1

2 10.8T/+/px3+4=24T/p -
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% 5-3*%1 24 AR

109 =

& 1 E/‘l'
i . 11 |28 | 33 |43

AR X Al A 110 | 90 60 60

o IEE A 0 0 0 0

REHS T A5 A 0 0 30 30

+ 8 2% A 240 | 240 | 240 | 40

T o A 0 0 0 0

4 51 £ | 90 | 90 | 90 | 90
Ayt A 0 0 0 0
i1 L | 45 | 45 | 45 | 45
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